For More Information: 866-333-0728

275
)
Structural Rack Guards 4
Economical way to protect against damage to pallet racking and wall corners. Constructed of =
6" or 8" cast steel for durability. Available with or without a rubber bumper. Easy to install to -~
concrete surface. Four mounting holes for maximum stability. Safety yellow baked-in powder-coated —
toughness. Models G6 require 1/2" anchor bolts. Models G8 require 3/4" anchor bolts. Installation :
hardware sold separately. [ o
MODEL OVERALL USABLE OPENING OVERALL BASE WEIGHT i t E =
NUMBER HEIGHT (W x D) (WxD) (POUND) s . 8 ~
STRUGTURAL RACK GUARDS e E
G6-12¢ 127" 4%/16" x 3"/16" 8'/16" x 6" 12 — m
G6-18 181" 4%/16" x 3"/16" 8'/16" x 6" 16 STRUCTURAL a
G6-24¢ 244" 4%/16" x 3'/16" 8'/16" x 6" 22 RACK GUARDS
G6-36® 36%" 4%h6" x 3"/16" 8'/16" x 6" 31
G8-12¢ 127" 6%16" x 3"/16" 10'/16" x 6" 13
G8-18c 18%" 6°%16" x 3"/16" 10'/16" x 6" 21
G8-24¢ 24" 6%16" x 3"/16" 10'/16" x 6" 28 Wy rorevmer 48 Hours
G8-360 364" 69/16" X 31/16" 10'/16" X 6" 37 coan Yo Sho
b
G6-12-B 121" 49/16" x 27/8" 8'/16" x 6" 19
G6-18-B 184" 496" x 27/8" 8'/16" x 6" 25
G6-24-B» 24" 496" x 27/8" 8'/16" x 6" 42
G6-36-B 36%" 496" x 27/8" 8'/16" x 6" 44
G8-12-Be 12%2" 6°%16" x 2"/16" 10'/16" x 6" 23
G8-18-Be 182" 6%16" x 2"/16" 10'/16" x 6" 38
G8-24-B» 24%2" 6%16" x 2"/16" 10'/+6" x 6" 51
G8-36-B 36" 6%16" x 2"/16" 10'/16" x 6" 53
AS-125¢ ANCHOR BOLTS FOR CONCRETE (1) 1/2" x 5" (@6 uniTs) 1
AS-125-4PK® ANCHOR BOLTS FOR CONCRETE (4) 1/2" x 5" (@6 uniTs) 4 STRUCTURAL RACK GUARDS
AS-3440 ANCHOR BOLTS FOR CONCRETE (1) 3/4" x 4" (a8 uniTs) 1 WITH RUBBER BUMPERS
AS-344-4PKe ANCHOR BOLTS FOR CONCRETE (4) 3/4" x 4" s uniTs) 4

Low Profile Rack Guards
Protect pallet racking and wall corners against damage from fork trucks, pallet trucks, and carts with 4 HIDUFIS
Low Profile Rack Guards. All components are laser cut. Quick and easy two (2) hole installation. _'r_,.;' o Shig
Installs in half the time of other guards. Safety yellow baked-in powder-coated toughness. Steel
. . '. o
construction. Installation hardware sold separately. ‘E‘% AEE;
TOUGH
MODEL OVERALL USABLE OPENING OVERALL BASE WEIGHT
NUMBER HEIGHT (WxD) (W x D) (POUND)
NPG4-12¢ 117/8" 4Y" x 1" 8"x 3" 5 i
NPG4-18® 177/8" 4Y" x 1" 8"x 3" 7
NPG4-24¢ 237/8" 4%" x 1" 8"x 3" 9
NPG4-36¢ 357/8" 4" x 1" 8" x 3" 15 ‘
NPG6-12¢ 117/8" 6%" x 1" 10" x 3" 7 N
NPG6-18® 177/8" 6%" x 1" 10" x 3" 8 = ]
NPG6-24 237/s" 6%"x 1" 10" x 3" 1 W =5
NPG6-36¢ 357/8" 61" x 1" 10" x 3" 16
AS-125% ANCHOR BOLTS FOR CONCRETE (1) 1/2" x 5" 1 model NPG4-12 model NPG6-36
AS-125-4PK® ANCHOR BOLTS FOR CONCRETE (4) 1/2" x 5" 4
-
Corner Guards Np L, g
| TOUGH
Protect busy corners, expensive machinery, and personnel with \ E'LFET\,- h %"
90° perpendicular protection. "SAFETY FIRST" promotion \ =F~',“£I'__| ‘ i =
reminds personnel of the number one priority. Steel units include \
baked-in powder-coated toughness. Aluminum unit is unfinished. E
Installation hardware sold separately. model PCG-24
MODEL OVERALL OVERALL SIDE WEIGHT
NUMBER HEIGHT LENGTH HEIGHT MATERIAL (POUND) %If
PCG-16® 16" 16" 8" STEEL 26 -1?:.- o ]
PCG-16-A 16" 16" 8" ALUMINUM 8 Bl 48 Hours
PCG-24 24" 24" 12%" STEEL 59 i —:‘;"‘9 Ship
PCG-24-A 24" 24" 12" ALUMINUM 10
AS-344¢ ANCHOR BOLTS FOR CONCRETE (1) 3/4" x 4" 1
AS-344-4PKo ANCHOR BOLTS FOR CONCRETE (4) 3/4" x 4" 4 model PCG-24-A




276

For More Information: 866-333-0728

PROTECTIVE BARRIERS

Be

'f-qﬁ__ji"'

model VPRP-YL-

12

48 Hours

.:f)w Ship

Wy rowrer
COATED
TOUGH

model RUD-24

48 Hours
.__jw Ship

48 Hours
& Ship

Rack Shields

Easy one-step installation, these Rack Shields eliminate painting and prevent damage to your
vertical supports. Made of extruded high-density polyethylene thermoplastic. Installation
hardware not included.

MODEL OVERALL USABLE SIZE WEIGHT

NUMBER HEIGHT (WxD) COLOR (POUND)
VPRP-YL-09 " 3"x2" YELLOW 2
VPRP-YL-12 12" 3"x2" YELLOW 2
VPRP-YL-18 18" 3"x2" YELLOW 4
VPRP-GY-09 o" 3"x2" GRAY 2
VPRP-GY-12 12" 3"x2" GRAY 2
VPRP-GY-18 18" 3" x2" GRAY 4
VPRP-BK-09 9" 3"x2" BLACK 2
VPRP-BK-12 12" 3"x2" BLACK 2
VPRP-BK-18 18" 3"x2" BLACK 4

Rack Guards with Rubber Bumper Insert

Protect pallet racking with durable wrap around protection. Increase pallet rack column
strength on impact by over 100%. Includes a %" thick rubber bumper and hardware. Easy
to install with wrench or socket. No concrete drilling required. Steel construction. Baked-in
powder-coated toughness.

MODEL OVERALL SIZE USABLE OPENING OVERALL WEIGHT

NUMBER (WxD) (W x D) W/BUMPER HEIGHT (POUND)
RUD-24: 3%g" x 476" 3'/s" X 4%" 24" 13
RUD-36 3%3" x 47/s" 3'/s" X 4%" 36" 18
RUD-48¢ 3%" x 47/s" 31/s" X 434" 48" 23

Polyethylene Rack Protector

Protect warehouse racking from damage from forklifts, pallet jacks, and other equipment.
Heavy-duty magnet holds unit securely in place. No hardware required for installation.

Polyethylene construction is maintenance free, no painting or upkeep required. Safety yellow

color with contrasting black warning stripes provides excellent visual reference for drivers and

other warchouse personnel.

MODEL OVERALL SIZE USABLE WEIGHT
NUMBER (Wx D xH) OPENING SIZE (POUND)
VMRP-15 5%/8" x 3%4" x 15%2" 4" 7

High Impact Plastic Upright Rack Guard

Impact resistant blended polyethylene outer shell. Internal shock absorbing pad for added
protection. Double stack for extra height protection. Does not require bolting to the floor.
Quickly attaches to pallet rack frame with two (2) zip ties, included. High visibility fluorescent

yellow color.

MODEL OVERALL SIZE FITS FRAME WEIGHT
NUMBER (WxDxH) WIDTH (POUND)
PRUD-20-2833® 358" x 3" x 19%4" 25/8" to 314" 3

Foam Edge Guards

Foam Edge Guard provides added protection when necessary. Each guard is manufactured
from flexible foam that conforms to slightly irregular angles and surfaces. Black and yellow

alert striping. Mounts with self-adhesive strips. Easy to cut to custom lengths.

MODEL OVERALL SLOT SIZE WEIGHT
NUMBER SIZE (W x L x H) (Wx H) (POUND)
FEG-Ac 1%" dia. x 40" 516" X 34" 1
FEG-Be 235" X 40" X 3/16" N/A 1
FEG-Co 196" x 40" 11%" 516" X 34" 1
FEG-De 196" x 40" x 115" 1" x 1" 1
FEG-E 1%" dia. x 40" 3" X 34" 1






